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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-1I

0 Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
o FUDAMENTALS OF PLANT BREEDING
d (GPB-211)
0 Time : 2 Hours

Section—1I :10
Maximum Marks : 70
E Section—1II: 60
Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
i in Question-booklet. Answers of Question Nos. 3, 4, 5.‘ 6 and 7 be written in
i the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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1. Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 in the square

given against each sub-question. (10x0.5=5)
& IW T ¥ I9F TE& | M2 3 m4m3w-ma%vmﬁﬁﬁn€zaﬁﬁfaﬁ§m
()  In India, introduction of agricultural and horticultural crops is done by ' l

(1) NBPGR, New Delhi

(2) Forest Research Institute, Dehradun
(3) Botanical Survey of India, Calcutta
(4) All the above.

mﬁ,msﬁzmmmmgr:wmmmmi?
(1) WEdam ¢ feesit
2) T STEHIH W, T
3) wlefa wd sifw sfew wom
4) IWE wd
(i)  Wheat varieties KSML3, MLKS11 and KML7404 are

(1) Multiline cultivars

(2) Exotic cultivars

(3) Pure line cultivars

(4) Mass selected cultivars.

T # R KSML3, MLKS11 8k KML7404 &
(1) gy fray
(2) faReit frey
Q) IRY FwwHw e
4) wEft w37 fra
(iif)  Central Potato Research Institute is located at :]
(1) Kasargod
(2) Shimla
(3) Bangalore
4) Nagpur.
LA A FHU e feom 3
(1) HuE o
(2) fmen g
(3) R §
(4) R |
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(iv)

(v)

(vi)
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Chemical used for creating artifical polyploidy is :]
(1) Ethidium bromide

(2) Algene

(3) Napthalene

(4) Colchicine.

FhM g WO % fAw v e amen e #
(1) sfufeam simEe

(2) e

(3) el

(4) HieHEH

The right granted by the government to an inventor to exclude others from imitating,
manufacturing, using or selling the invention for commercial used during the specified

period is called 7]
(1) Certificate

(2) Patent

(3) Copy right

(4) Licence.

TEHER T & ATEHRF Ft 98 A fn o ¢ fF 7 fiffe aafy 3 foaw oo
AfE=FR 1 AfoRas: IWEm F Y T T, frior, swEm @ faE @ 9w @
s €, weem @

(1) 9H|T 93

2) e

3) wrft T

(4) wTEE

The sum total of all the genes present in a population is known as
(1) Exon

(2) Gene

(3) Intron

(4) Gene pool.

et wftre o softem msft S #1 9 ® w9 w9 o @
(1) A

(2

(3) ¥
4) s g=
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(vii) Production of large number of vegetative progency through tissue culture is called : ‘
(1) Micropropagation ]
(2) Megapropagation 1
(3) Apospory
(4) Explant propagation.

FF FOA F Wem R 9 wen ¥ aeetE Sae ® saRd # % o f
(1) ey

(2) TFERESA

(3) SfESIOmE

4) TR Yo

(viii) In 1939, the idea of Single Seed Descent (SSD) methods was originally
suggested by

(1) Goulden

(2) Crick

(3) Amici

(4) Camerarious.
1939ﬁ,mmmﬁﬁ:(ssn)mﬁmqamﬁmmmw oa1?
(1) ST

2 fow

(3) st

4) =Huifisrg)

(ix)  The best method for developing disease resistant plant is

(1) Introduction
(2) Selection
(3) Hybridization
(4) Back crossing.
I sfdet 9 e w@ # gag o fafy @
(1) e
(2) T
(3) HH
(4) HHEIGES TEHT|
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(x)  An area within a centre of diversity, which shows greater diversity than does the centre
of diversity as a whole is called D

(1) Centre of diversity
(2) Megacentre

(3) Microcentre

(4) Evolution centre.

fafaum = #% & 9w &1 = &3, S 5 fafava & 333 § e fGfys 3 afis
fafavar zoi 2, Feoma €

(1) fafgum 23
(2) FEHR
(3) [euws
@) frwm 33

2. Fill in the blanks : (10x0.5=5)
faa o 1 9fd Fifee

(1) SSD method of breeding is USed N .........coccnsnnnesensecsuesasssccnssassncanssncass species.
U7 H TR &9 SIS F8R BT ST e yenfaai |
oz s 2

(i)  Resistance of a host to the particular race of a pathogen is called ............ccccoveecreerirrsrennene.

TF VoA 1 v yonfa & fo0 o 9fea = T TR F e,
Fe1 S 2

(i) The ratio of genotypic variance to the phenotypic variance is known

FARIYS T § AARNTE T T STTT 1 ooeeeeeeeeeeeeeeoeeesesesessssssssesesssssssens
FE e R
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(iv) Multiline varieties are developed In ...........ccccceiviiniincniiineninssinisneessnsene species.
TEATEH FFT .o ssssessens wfea 8 fasfaa #1 w #)

(v)  Superiority of F, hybrid over its better parent is Known as .......coeemvnieniencnnnnnnc.
i T E I e C D T L1 O —— H ¥
H St S 2

(vi) The concept of gene for gene hypothesis was first developed by .....ccceveeenciiiiinininennn,
in 1956.
R TR O IRETTN F FEAROM BT TEEA AW oeeececeessssseseeressssssssseessssssens

3 1956 H fa=wfoa f&m w0

(vii) In maize, resistance to European corn borer is associated with high concentration
"1 RO RO e

TFe H, JU9T T G B AR WA BTG ..o
F T TEA F WY I geN B

(viii) When ms ms is crossed with Ms ms, the F, will be ..o
@ msms F Msms ® T THEO FFD TR, WM E, F oo ssnnscsssnnnn
T

(x) Male sterility CRERRCIEEEDNE DY ...oicrsiorsrsscrssmmsnrsonsascassasssssnsssorsiasesssssesionsasss pollen.
o R et o L sismiteshi bl wE R

(x) Plant breeding is an applied branch Of ...
R e e At s K i I, R F @n W@ R
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I1
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
FUDAMENTALS OF PLANT BREEDING
(GPB-211)
SECTION - 11
aus - 11
Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3,4,5 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
faware® wm (v wem 3, 4, 5, 6 wE 7) %wﬁnﬁm—gﬁamﬁfa@#?nm—gm
mﬁmm—wwmﬁmwﬁmmmésﬁml

fovarme am #1 wE- v oo Wy @ W ged

3. Define the following : (5x1=5)
fFrafafes it v Fifs .

(i)  Heritability.
BRG]

(i) Gamma garden.

3T

(iii) Geitonogamy.

TR
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(iv) Hardy Weinberg's law.
e At # frEm

(v) Genetic variance.

ARSI

4. Differentiate the following : (2x3.5=7)

frfafas § =R FI9Q :

(i) Mass selection and pure line selection.

TE T SR [E AEE

(ii) Horizontal resistance and vertical resistance.

dfrs rm s st dfemm

5. Write short notes/comment/justify the following : (2x6=12)

frefafma 31 g9 o froyofiav/=men Fifvg -

(i) Major centres of origin of cultivated crops.
Ff F T ARt wEEl # IO ® WE Fa

(ii) For what work the following Indian scientist are famous :

B.P. Pal, K. Ramaiah, Pushkarnath, D.S. Athwal, Bosi Sen, T.S. Venkatraman.
frefafes ardg At few F=m @ fag wRey €

@ T, ® THA, IEEY, AE. @A, d@ FF, AW IHTA i
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6. Explain any rwo out of the following three questions in 1-1%2 pages. (2x8=16)
frfafas &7 ot & ¥ 7 @t 3 W 1-1% = F G
@

What do you mean by hybridization? Briefly describe the different steps involved in
hybridization procedure for production of a new variety.

TH |/ TH 7 A 82 T R F IarE 3 e g whea 9 e fafis
= F1 HET | que F:1)

What do you mean by "mutation breeding"? Briefly narrate the application of mutation
breeding.

‘T T R ST s 87 Seftad Yo # o # wE o =

Define plant breeding? Discuss briefly the objectives of plant breeding.
TET YR H ORI H? WY TR H IEA W FE H w= wi

7. Explain/describe in detail any rwo out of the following three questions in 2-3 pages. (2x10=20)
frfafes &9 w4l 9 @ &= @ # IW 23 T § Gfw

@

(ii)

(iii)

What is male sterility? List various male sterility systems used in crop plants. Describe the
method of developing hybrids in pearl millet using cystoplasmic genetic male sterility.
T w1 82 FHea gl F SwEm ¥ w9 gt fafie R degan yonferat wt g
TN TS AERE TSI F I F g A0 § v e wfan
1 fafy =1 a7 =+

What is pedigree method of Plant breeding? Write the procedure and limitations of this
method. '

=Y WA W1 awmEet fafy ;= 22 W fafy # wRem ok dd gl

Enlist various physical and chemical mutagens. Discuss the procedure for development
of variety through Gamma rays. :

fafe= fiftr IR TamEfE SafEdal w1 geEagy w2 T R @ En e et
FH F AfET W w= w
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